Puissances de Dix (H)

Trouvez chaque produit ou quotient.

71 x 103 = 49 =10t =
4 +10'= 4 +10=
37 - 10 = 6 x 10! =
21X 103 = 4 =101 =
48 x 103 = 47 x 103 =
69 x 10* = 16 x 10% =
6 x 10 = 73 x 10% =
51x 10" = 92 X 102 =
65+ 10° = 22 x 10t =
72 ~10% = 40 =~ 101 =
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Puissances de Dix (H) Solutions

71 x 10* =71 000

4+10 =04

37 +10'=3,7

21 x10%*=21000

48 x 10° =48 000

69 x 10* = 690

6 x 10' =60

51 x 10' =510

65 + 10° = 0,065

72 +10%=0,72

Trouvez chaque produit ou quotient.

49 +10'=49

4+10'=04

6 x 101 =60

4+10'=04

47 x 10° =47 000

16 X 10> =1 600

73 x 10 =7 300

92 X 10> =9 200

22 x 10' =220

40 =~ 10t =4
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